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yazt 3,140.0 346.5 88.0  2,028.0 53.5  1,732.0 2425 477.5 198.0 2.0 25,460.5  2,927.0 80.94 90.21
ZALH T AR 544 .5 50.5 29.5 355.0 16.5 313.0 25.5 84.0 25.5 - 10,750.0 502.0 80.87 96.07
AR T AR 178.0 29.0 4.5 97.5 5.0 71.0 21.5 27.5 18.5 1.0 1,327.5 193.0 78.00 87.98
b 7k 434.5 35.0 10.0 276.0 9.5 258.0 8.5 87.0 26.5 - 1,805.5 339.5 76.03 83.69
PR T 7ERE 239.5 21.0 5.0 174.5 5.5 118.0 51.0 38.0 1.0 - 1,568.0 261.5 82.12 84.98
BT T R 118.5 14.0 5.5 83.5 3.0 56.0 24.5 12.5 3.0 - 438.5 82.5 86.98 85.63
B SR T AR 63.5 8.5 1.0 46.0 - 37.5 8.5 8.0 - - 352.5 52.5 85.19 87.80
=i )5 AR 365.5 45.5 7.5 254.0 3.0 216.5 34.5 44.0 14.5 - 2,207.0 324.5 85.23 87.70
FERE T AR 71.0 10.0 - 40.0 - 39.5 0.5 10.0 11.0 - 286.0 47.5 80.00 86.89
LM T R 133.0 30.0 2.0 85.0 - 61.0 24.0 12.0 .0 - 620.5 122.0 87.63 85.50
T T AR 55.0 11.0 2.0 26.5 - 24.0 2.5 11.5 .0 - 349.5 62.5 69.74 85.84
EEMIT AR 93.0 10.0 1.0 60.5 1.0 59.5 - 15.5 6.0 - 492.0 78.0 79.61 86.38
2T ER 211.5 26.0 4.5 143.5 4.0 118.0 21.5 32.5 5.0 - 1,315.0 261.5 81.53 82.43
e T R 266.0 19.5 4.0 161.0 4.0 155.5 1.5 49.0 32.5 - 1,541.5 206.5 76.67 88.13
TEUE N 7 2R 42.0 9.5 1.0 20.5 1.0 19.5 - 3.5 7.5 - 726.0 100.5 85.42 87.60
S5 LR 4.0 - - 4.0 - 2.0 2.0 - - - 11.0 1.0 100.00 90.91
R T AR 103.0 10.5 6.0 47.0 1.0 36.5 9.5 17.5 22.0 - 521.0 106.0 72.87 82.82
EE T ER 38.5 5.5 1.0 23.0 - 19.0 4.0 4.0 5.0 - 145.0 34.5 85.19 80.69
L TT AT 61.5 4.0 2.0 47.0 - 46.0 1.0 4.5 3.0 1.0 252.0 46.5 91.26 83.93
E M T R 58.0 5.5 - 39.5 - 39.5 - 9.0 4.0 - 289.5 50.5 81.44 84.46
Rl 7 AR 54.5 1.5 1.5 39.0 - 37.0 2.0 7.5 5.0 - 421.5 43.5 83.87 90.39
B T AR 5.0 - - 5.0 - 5.0 - - - - 41.0 11.0 100.00 73.17
#; EAR[EIHARR (%) 0.45 -1.98 4.76 0.17 -6.14 0.58 -1.22 1.06 3.39 - 6.18 6.86 -0.14* -0.19*
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